

1-1-2014

Generalized hypercenter of a finite group

MOHAMED EZZAT MOHAMED

MOHAMMED MOSA ALSHOMRANI

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

Recommended Citation

MOHAMED, MOHAMED EZZAT and ALSHOMRANI, MOHAMMED MOSA (2014) "Generalized hypercenter of a finite group," *Turkish Journal of Mathematics*: Vol. 38: No. 4, Article 5. <https://doi.org/10.3906/mat-1308-52>

Available at: <https://journals.tubitak.gov.tr/math/vol38/iss4/5>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact academic.publications@tubitak.gov.tr.

Generalized hypercenter of a finite group

Mohamed Ezzat MOHAMED^{1,*}, Mohammed Mosa AL-SHOMRANI²

¹Faculty of Arts and Science, Northern Borders University, Rafha, Saudi Arabia

²Department of Mathematics, Faculty of Science, King Abdulaziz University, Jeddah, Saudi Arabia

Received: 29.08.2013 • Accepted: 09.01.2014 • Published Online: 25.04.2014 • Printed: 23.05.2014

Abstract: Let G be a finite group. In this paper, we introduce the concept of super generalized supersolvably embedded subgroup of a group G and give a new characterization of the generalized hypercenter of G .

Key words: S -quasinormally embedded, generalized supersolvably embedded, super generalized supersolvably embedded, supersolvable

1. Introduction

All groups considered in this paper will be finite and G always means a finite group. We use conventional notions and notations, as in Doerk and Hawkes [4].

Two subgroups H and K of a group G are said to permute if $HK = KH$. Thus, we have that H and K permute if and only if HK is a subgroup of G . We say, following Kegel [5], that a subgroup of a group G is S -quasinormal in G if it permutes with every Sylow subgroup of G . In 1998, Ballester-Bolinchés and Pedraza-Aguilera [3] introduced the following definition: a subgroup H of a group G is said to be S -quasinormally embedded in G if each Sylow subgroup of H is a Sylow subgroup of some S -quasinormal subgroup of G . Obviously, every S -quasinormal subgroup is S -quasinormally embedded. The converse does not hold in general. The Sylow 2-subgroups of S_3 , the symmetric group of degree 3, are S -quasinormally embedded but not S -quasinormal subgroups of S_3 .

Agrawal [1] defined the generalized center $genz(G)$ of a group G to be the subgroup

$$\langle g \in G : \langle g \rangle \text{ is } S\text{-quasinormal in } G \rangle.$$

The generalized hypercenter $genz_\infty(G)$, is the largest term of the chain

$$1 = genz_0(G) \leq genz_1(G) = genz(G) \leq genz_2(G) \leq \dots,$$

where $genz_{i+1}(G)/genz_i(G) = genz(G/genz_i(G))$ for all $i > 0$. Asaad and Ezzat Mohamed [2] gave a new characterization of $genz_\infty(G)$ by introducing the following definition: a normal subgroup H of a group G is a generalized supersolvably embedded (GSE) in G if there exists a chain

$$1 = H_0 \leq H_1 \leq H_2 \leq \dots \leq H_n = H$$

*Correspondence: mohaezzat@yahoo.com

2010 AMS Mathematics Subject Classification: 20D10; 20D20.

such that H_i is S -quasinormal in G and $|H_{i+1} : H_i|$ is a prime, where $0 \leq i \leq n - 1$. It is easily verified that if H and K are normal GSE subgroups of G , then HK is GSE in G . From this, a group G has a unique maximal generalized supersolvably embedded subgroup and it is denoted by $GSE(G)$. The generalized hypercenter $genz_\infty(G)$ is the maximal generalized supersolvably embedded $GSE(G)$ (see [2; p. 2243]). It was proven in [5; Theorem 1, p. 209] that an S -quasinormal subgroup of a finite group is subnormal. Therefore, by the definition of a GSE subgroup, it is clear that H_i is normal in H_{i+1} . As a development, we now replace the S -quasinormality by S -quasinormally embedded and introduce the following new concept:

Definition 1.1 *A normal subgroup H of a group G is super generalized supersolvably embedded (SGSE) in G if there exists a chain*

$$1 = H_0 \triangleleft H_1 \triangleleft H_2 \triangleleft \dots \triangleleft H_n = H$$

such that H_i is S -quasinormally embedded in G and $|H_{i+1} : H_i|$ is a prime for every $0 \leq i \leq n - 1$.

In this paper, we give a new characterization of generalized hypercenter and generalized supersolvably embedded.

2. Preliminary results

The following known results will be useful later.

Lemma 2.1 *Suppose that U is S -quasinormally embedded in a group G , H is a subgroup of G , and K is a normal subgroup of G . Then:*

- (a) *If $U \leq H$, then U is S -quasinormally embedded in H .*
- (b) *UK is S -quasinormally embedded in G and UK/K is S -quasinormally embedded in G/K .*
- (c) *If $K \leq H$ and H/K is S -quasinormally embedded in G/K , then H is S -quasinormally embedded in G .*

Proof See [3; Lemma 1, p. 114]. □

Lemma 2.2 (a) *If K is a normal subgroup of a group G and H is S -quasinormal in G , then $H \cap K$ is S -quasinormal in G .*

(b) *If K is a normal subgroup of a group G and H is S -quasinormally embedded in G , then $H \cap K$ is S -quasinormally embedded in G .*

Proof (a) Since H is S -quasinormal in G , it follows by [5; Theorem 1, p. 209] that H is subnormal in G , and so HK and $H \cap K$ are subnormal in G . Let P be an arbitrary Sylow subgroup of G . Clearly $H \cap P \in Syl(H)$, $K \cap P \in Syl(K)$, $HK \cap P \in Syl(HK)$, and $H \cap K \cap P \in Syl(H \cap K)$. Then $|(H \cap P)(K \cap P)| = \frac{|H \cap P| |K \cap P|}{|H \cap K \cap P|} = |HK \cap P|$. Since $(H \cap P)(K \cap P) \leq HK \cap P$, it follows that $(H \cap P)(K \cap P) = HK \cap P$. Hence, by [4; Lemma 1.2, p. 2], $(H \cap K)P = HP \cap KP$ and so $H \cap K$ is S -quasinormal in G .

(b) Let P be an arbitrary Sylow subgroup of $H \cap K$. Since K is a normal subgroup of G , it follows that $P = S \cap K$, where $S \in Syl(H)$. Since H is S -quasinormally embedded in G , it follows that S is a Sylow subgroup of an S -quasinormal subgroup L of G . By (a), $L \cap K$ is S -quasinormal in G . Clearly $P = S \cap K$ is a Sylow subgroup of $L \cap K$. Then every Sylow subgroup of $H \cap K$ is a Sylow subgroup of S -quasinormal subgroup of G . Hence, $H \cap K$ is S -quasinormally embedded in G . □

- Lemma 2.3** (a) Let H be a normal subgroup of G such that $H \leq \text{genz}_\infty(G)$, then $\text{genz}_\infty(G)/H = \text{genz}_\infty(G/H)$.
 (b) $\text{genz}_\infty(G)$ is supersolvable.
 (c) G is supersolvable if and only if $G/\text{genz}_\infty(G)$ is supersolvable.
 (d) If K is a supersolvable subgroup of G , then $K\text{genz}_\infty(G)$ is supersolvable.

Proof See [1; Proposition 2.3, p. 27 and Theorems 2.7, 2.8(ii), and 2.9, pp. 18–19]. □

3. Results

Lemma 3.1 Let H and K be normal subgroups of G .

- (a) If $K \leq H$ and H is SGSE in G , then H/K is SGSE in G/K .
 (b) If $K \leq H$ and H is SGSE in G , then K is SGSE in G .
 (c) If K and H are SGSE in G , then HK is SGSE in G .

Proof (a) Suppose that H is SGSE in G . Then there exists a chain $1 = H_0 \triangleleft H_1 \triangleleft H_2 \triangleleft \dots \triangleleft H_n = H$, such that H_i is S -quasinormally embedded in G and $|H_{i+1} : H_i|$ is a prime, for every $0 \leq i \leq n-1$. Since H_i is S -quasinormally embedded in G and K is a normal subgroup of G , it follows by Lemma 2.1(b) that H_iK/K is S -quasinormally embedded in G/K . Since $H_i \triangleleft H_{i+1}$, it follows that

$$(H_{i+1}K/K)/(H_iK/K) \cong H_{i+1}K/H_iK = H_{i+1}(H_iK)/H_iK \cong H_{i+1}/(H_{i+1} \cap H_iK) = H_{i+1}/H_i(H_{i+1} \cap K),$$

where the equality $(H_{i+1} \cap H_iK) = H_i(H_{i+1} \cap K)$ follows from the modular law. So, as $|H_{i+1} : H_i|$ is a prime, $|H_{i+1}K/K : H_iK/K|$ is prime or 1. Hence, there is a chain

$$1 = K/K = L_0/K \triangleleft L_1/K \triangleleft L_2/K \triangleleft \dots \triangleleft L_m/K = H/K,$$

such that L_i/K is S -quasinormally embedded in G/K and $|L_{i+1}/K : L_i/K|$ is a prime, for every $0 \leq i \leq m-1$. Therefore, H/K is SGSE in G/K .

(b) Suppose that H is SGSE in G . Then there exists a chain $1 = H_0 \triangleleft H_1 \triangleleft H_2 \triangleleft \dots \triangleleft H_n = H$, such that H_i is S -quasinormally embedded in G and $|H_{i+1} : H_i|$ is a prime, for every $0 \leq i \leq n-1$. Since H_i is S -quasinormally embedded in G and K is a normal subgroup of G , it follows by Lemma 2.2(b) that $H_i \cap K$ is S -quasinormally embedded in G . Since $H_i \triangleleft H_{i+1}$, it follows that $H_i \cap K \triangleleft H_{i+1} \cap K$. Then $(H_{i+1} \cap K)/(H_i \cap K) \cong (H_{i+1} \cap K)H_i/H_i \leq H_{i+1}/H_i$. Then $|H_{i+1} \cap K : H_i \cap K|$ is prime or 1, as $|H_{i+1} : H_i|$ is a prime. Thus, we have a chain $1 = H_0 \cap K \triangleleft H_1 \cap K \triangleleft H_2 \cap K \triangleleft \dots \triangleleft H_n \cap K = H \cap K = K$ such that $H_i \cap K$ is S -quasinormally embedded and $|H_{i+1} \cap K : H_i \cap K|$ is prime or 1, for every $0 \leq i \leq n-1$. Hence, we can choose a chain $1 = K_0 \triangleleft K_1 \triangleleft K_2 \triangleleft \dots \triangleleft K_m = K$, such that K_i is S -quasinormally embedded in G and $|K_{i+1} : K_i|$ is a prime, where $0 \leq i \leq m-1$. Therefore, K is SGSE in G .

(c) Suppose that H and K are SGSE in G . Then there exist 2 chains $1 = H_0 \triangleleft H_1 \triangleleft H_2 \triangleleft \dots \triangleleft H_n = H$ and $1 = K_0 \triangleleft K_1 \triangleleft K_2 \triangleleft \dots \triangleleft K_m = K$ such that H_i, K_j are S -quasinormally embedded in G and $|H_{i+1} : H_i|, |K_{j+1} : K_j|$ are primes, where $0 \leq i \leq n-1, 0 \leq j \leq m-1$. Since K_j is S -quasinormally embedded in G and $H \triangleleft G$, it follows by Lemma 2.1(b) that K_jH is S -quasinormally embedded in G . Then $HK_{j+1}/HK_j = K_{j+1}(HK_j)/HK_j \cong K_{j+1}/(K_{j+1} \cap HK_j) = K_{j+1}/K_j(K_{j+1} \cap H)$. Since $|K_{j+1} : K_j|$ is a prime, it follows that $|HK_{j+1} : HK_j|$ is prime or 1. Thus, we have a chain $1 = H_0 \triangleleft H_1 \triangleleft H_2 \triangleleft \dots \triangleleft H_n =$

$H = HK_0 \triangleleft HK_1 \triangleleft HK_2 \triangleleft \dots \triangleleft HK_m = HK$ such that H_i, HK_j are S -quasinormally embedded in G and $|H_{i+1} : H_i|$ is a prime, and $|HK_{j+1} : HK_j|$ is prime or 1, for every $0 \leq i \leq m-1, 0 \leq j \leq m-1$. Hence, we can choose a chain $1 = L_0 \triangleleft L_1 \triangleleft L_2 \triangleleft \dots \triangleleft L_r = HK$, such that L_i is S -quasinormally embedded in G and $|L_{i+1} : L_i|$ is a prime, for every $0 \leq i \leq r-1$. Therefore, HK is $SGSE$ in G . \square

From this last property, we can see that a group G has a unique maximal ($SGSE$), namely the product of all $SGSE$ normal subgroups of G , and it will be denoted by $SGSE(G)$.

The following 2 results are easily verified by using Lemmas 2.1 and 3.1:

Lemma 3.2 *If H is a subgroup of G and $SGSE(G) \leq H$, then $SGSE(G) \leq SGSE(H)$. In particular, $SGSE(SGSE(G)) = SGSE(G)$.*

Lemma 3.3 *Let N be a normal subgroup of G . Then $SGSE(G)N/N \leq SGSE(G/N)$.*

The inclusion here can be proper, for example, the alternating group of degree 4.

As a further Lemma, we have:

Lemma 3.4 *Let H be a normal subgroup of G such that $H \leq SGSE(G)$. Then $SGSE(G)/H = SGSE(G/H)$.*

Proof Put $SGSE(G/H) = L/H$. Consider a chain

$$1 = H/H = H_0/H \triangleleft H_1/H \triangleleft \dots \triangleleft H_n/H = SGSE(G/H) = L/H,$$

such that H_i/H is S -quasinormally embedded in G/H and $|H_{i+1}/H : H_i/H|$ is a prime, for every $0 \leq i \leq n-1$. Since H_i/H is S -quasinormally embedded in G/H , it follows by Lemma 2.1(c) that H_i is S -quasinormally embedded in G . Hence, we have a chain $H = H_0 \triangleleft H_1 \triangleleft H_2 \triangleleft \dots \triangleleft H_n = L$, such that H_i is S -quasinormally embedded in G and $|H_{i+1} : H_i| = |H_{i+1}/H : H_i/H|$ is a prime, for every $0 \leq i \leq n-1$. Since H is a normal subgroup of G and $H \leq SGSE(G)$, it follows by Lemma 3.1(b) that H is $SGSE$ in G . Then H_n is $SGSE$ in G and so $SGSE(G/H) = L/H \leq SGSE(G)/H$. On the other hand, $SGSE(G)/H \leq SGSE(G/H)$, by Lemma 3.3. Therefore, $SGSE(G)/H = SGSE(G/H)$. \square

Now we can prove the following result:

Theorem 3.5 *Let G be a group. Then $SGSE(G)$ is supersolvable.*

Proof We prove the result by the induction on the order of G . By Lemma 3.2, we may assume that $SGSE(G) = G$. Then we have:

$$(1) \quad 1 < GSE(G) = \text{genz}_\infty(G).$$

If $GSE(G) = \text{genz}_\infty(G) = 1$, then $\text{genz}(G) = 1$. As $SGSE(G) = G$, it is clear by the definition of $SGSE(G)$ that G is solvable. Then $F(G) \neq 1$. So $O_p(G) \neq 1$ for some prime p dividing the order of G . By Lemma 3.1(b), $O_p(G)$ is $SGSE$ in G . Then $O_p(G)$ contains a subgroup H of order p such that H is S -quasinormally embedded in G . Thus, there exists an S -quasinormal subgroup K of G such that H is a Sylow p -subgroup of K . Clearly $H = O_p(G) \cap K$. Since $O_p(G) \triangleleft G$ and K is S -quasinormal in G , it follows by Lemma 2.2(b) that $H = O_p(G) \cap K$ is S -quasinormal in G . Then $1 \neq H \leq \text{genz}(G)$, a contradiction. Thus, $1 < GSE(G) = \text{genz}_\infty(G)$.

(2) G contains a normal Sylow r -subgroup R , where r is the largest prime dividing the order of G . Since $\text{genz}_\infty(G) \triangleleft G$, it follows by Lemma 3.4 that

$$G/\text{genz}_\infty(G) = \text{SGSE}(G)/\text{genz}_\infty(G) = \text{SGSE}(G/\text{genz}_\infty(G)).$$

By (1) and the induction on the order of G , $G/\text{genz}_\infty(G)$ is supersolvable. If r divides the order of $G/\text{genz}_\infty(G)$, then $R\text{genz}_\infty(G)/\text{genz}_\infty(G)$ is a Sylow r -subgroup of $G/\text{genz}_\infty(G)$. Since $G/\text{genz}_\infty(G)$ is supersolvable and since r is the largest prime divisor of the order of $G/\text{genz}_\infty(G)$, it follows that $R\text{genz}_\infty(G)/\text{genz}_\infty(G) \triangleleft G/\text{genz}_\infty(G)$ and so $R\text{genz}_\infty(G) \triangleleft G$. By Lemma 2.3(d), $R\text{genz}_\infty(G)$ is supersolvable. Then R is characteristic in $R\text{genz}_\infty(G)$. Since $R\text{genz}_\infty(G) \triangleleft G$, it follows that $R \triangleleft G$. Thus, we may assume that r is not dividing the order of $G/\text{genz}_\infty(G)$. Hence, R is a Sylow r -subgroup of $\text{genz}_\infty(G)$. Since $\text{genz}_\infty(G)$ is supersolvable by Lemma 2.3(b), it follows that R is characteristic in $\text{genz}_\infty(G)$. Since $\text{genz}_\infty(G) \triangleleft G$, it follows that $R \triangleleft G$.

(3) G is supersolvable.

Since $R \triangleleft G = \text{SGSE}(G)$, it follows by Lemma 3.1(b) that R is SGSE in G . Then there exists a chain $1 = R_0 \triangleleft R_1 \triangleleft \dots \triangleleft R_n = R$ such that R_i is S -quasinormally embedded in G and $|R_{i+1} : R_i| = r$, for every $0 \leq i \leq n - 1$. Thus, for every R_i there exists an S -quasinormal subgroup L_i in G such that R_i is a Sylow subgroup of L_i . Clearly $R_i = L_i \cap R$. Since $R \triangleleft G$ and L_i is S -quasinormal in G , it follows by Lemma 2.2(b) that $R_i = L_i \cap R$ is S -quasinormal in G . Then R is GSE in G , and so $R \leq \text{genz}_\infty(G)$ (because $GSE(G) = \text{genz}_\infty(G)$). Since G/R is supersolvable by the induction on the order of G and $R \leq \text{genz}_\infty(G)$, it follows by Lemma 2.3(c) that G is supersolvable. \square

Finally, we prove the following:

Theorem 3.6 *Let G be a group. Then $\text{SGSE}(G) = \text{genz}_\infty(G)$.*

Proof We prove the result by the induction on the order of G . We consider the following 2 cases:

Case 1. $\text{genz}_\infty(G) \neq 1$.

By the induction on the order of G ,

$$\text{SGSE}(G/\text{genz}_\infty(G)) = \text{genz}_\infty(G/\text{genz}_\infty(G)).$$

Since $\text{genz}_\infty(G) \leq \text{SGSE}(G)$, it follows by Lemma 3.4 that

$$\text{SGSE}(G/\text{genz}_\infty(G)) = \text{SGSE}(G)/\text{genz}_\infty(G).$$

Also by Lemma 2.3(a), $\text{genz}_\infty(G/\text{genz}_\infty(G)) = \text{genz}_\infty(G)/\text{genz}_\infty(G)$. Then $\text{SGSE}(G)/\text{genz}_\infty(G) = \text{genz}_\infty(G)/\text{genz}_\infty(G)$ and so $\text{SGSE}(G) = \text{genz}_\infty(G)$.

Case 2. $\text{genz}_\infty(G) = 1$.

We argue that $\text{SGSE}(G) = 1$. If not, then $\text{SGSE}(G) \neq 1$. By Theorem 3.5, $\text{SGSE}(G)$ is supersolvable. Then $\text{SGSE}(G)$ contains a characteristic Sylow subgroup R , and since $\text{SGSE}(G) \triangleleft G$, it follows that $R \triangleleft G$. By Lemma 3.1(b), R is SGSE in G . Then there exists a chain $1 = R_0 \triangleleft R_1 \triangleleft \dots \triangleleft R_n = R$ such that R_i is S -quasinormally embedded in G and $|R_{i+1} : R_i|$ is a prime, for every $0 \leq i \leq n - 1$. Thus, for every R_i there exists an S -quasinormal subgroup L_i in G such that R_i is a Sylow subgroup of L_i . Clearly $R_i = L_i \cap R$. Since $R \triangleleft G$ and L_i is S -quasinormal in G , it follows by Lemma 2.2(a) that $R_i = L_i \cap R$ is S -quasinormal in G . Then R is GSE in G and so $1 < R \leq \text{genz}_\infty(G)$, a contradiction. Thus, $\text{SGSE}(G) = \text{genz}_\infty(G) = 1$. \square

Acknowledgment

This paper was supported by the Deanship of Scientific Research of Northern Borders University under grant 433/058.

References

- [1] Agrawal RK. Generalized center and hypercenter of a finite group. Proc Amer Math Soc 1976; 54: 13–21.
- [2] Asaad M, Ezzat Mohamed M. On generalized hypercenter of a finite group. Comm Algebra 2001; 29: 2239–2248.
- [3] Ballester-Bolinches A, Pedraza-Aguilera MC. Sufficient conditions for supersolubility of finite groups. J Pure Appl Algebra 1998; 127: 113–118.
- [4] Doerk K, Hawkes T. Finite soluble groups. Berlin: Walter De Gruyter, 1992.
- [5] Kegel OH. Sylow-Gruppen und Subnormalteiler endlicher Gruppen. Math Z 1962; 78: 205–221.